
ANSWER TO "TRY YOURSELF" PROBLEM FROM STUDY SECTION 9.5 

 

Try Yourself 9.5 

Solid PbI2 (Ksp = 9.8 x 10-9) is placed in a beaker of water.  After a period of time the lead(II) concentration is 

measured and found to be 1.1 x 10-3 M. Is the solution saturated? If not, will more PbI2 dissolve? 

 

 

 

  



 

 

 

 

 

 

 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

When the concentration was determined to be 1.1 x 10-3 M for the Pb2+ ions in solution another 0.114 g of PbI2 

could have dissolved before equilibrium (and therefor saturation) would have been established. 

 

 

 


